REVISIONS
SYM | ZONE DESCRIPTION DATE | APP
Initial Release 5/31/19| JLT

A 7
-
|
|
|
|
[ - -
sl L
// // // / / / N
;)7 /7 / / / /
\\
3 |
SHOYOONNETS,
|ezsEss]
N/7
N3 51083 11831
SPSHAHSIO,
[ 0 // : |
N 4
) — — \ SECTION A-A
f -] [ [ 111 1 [ 11 1T ] [ ] — W SCALE 3/4
Parts List
| \ 34 |PURCHASED Dowel Pin 6mm Dia. x 12mm Long 4 McMaster-Carr
\ / / Alloy Steel #91595A440
Septum 2 13 |PURCHASED FIDUCIAL .5SMN 4 Hubbs Machine #
- S5SMN
FILE NAME: 7207-014 12 |PURCHASED  |SHCS M6x1.0 x 16mm 316SST 4 McMaster-Carr
SHEET NO.: 1 #92290A321
DFT. SCALE: 1:1 11 |PURCHASED  |Flat Washer M6 316SST 8 McMaster-Carr
MATERIAL: As Noted #90965A170
QTY: As Req'd 10 |PURCHASED  |SHCS M8x1.25-40mm BO Steel 7 McMaster-Carr
/ / \ A NOTES: #91290A210
| 9 |PURCHASED Dowel Pin 8mmx20mm Alloy Steel 4 McMaster-Carr
L j #91595A558
8 |PURCHASED SHCS M8x1.25 x 40mm 316SST 4 McMaster-Carr
#92290A442
— 7 |SHEET 2 Hydraulic Electrical Box 1 CLASSE
:”j [H: 6 |SHEET9 Band Mounting Plate 4 CLASSE
5 |SHEET 9 Septum 2 Spacer Block 1 CLASSE
4 |SHEET 8 Septum 2 - Coils 2 CLASSE
3 |SHEET7 Septum 2 - Middle 1 CLASSE
2 |SHEET®6 Septum 2 - Bottom 1 CLASSE
1 |SHEET 5 Septum 2 - Top 1 CLASSE
Gl | G2 | G3
@ g ITEM DWG. NO. DESCRIPTION REMARKS REV.
QUANTITY
U PRINT | PLOT DATE: 6/20/2019
DISTR.| CAD FILE NAME: 7207-014.idw
SSO S
Tlgg%@%%gg%f%}g? CR-1 " eorD: Cornell Laboratory for Accelerator-based
INFORMATION, ARE THE PROPERTY % N DIMENSIONS ARE IN MILLIMETERS; ScienceS and Education (CLASSE)
OF CORNELL UNIVERSITY. USEOF |5 TOLERANCES ON:
THESE DRAWINGS BEYOND THE Iy o
INTENDED PURPOSE IN SUPPORT | o — M
OF OUR RESEARCH AS DESCRIBED | . Assembly
AND FUNDED BY OUR SPONSORING ANGLES £05
AGENCIES MUST BE NEGOTIATED ALL SURFACES )/
AND APPROVED IN ADVANCE BY = cvEckenay: D.Burke DRAWN BY DRAWN FOR DATE | SCALE 7207-014 REV.
CORNELL UNIVERSITY. m D
: apprOVED BY: D.Burke J.Turco D.Burke 12/10/2018 SH.NO. 1 oF 16
9 8 7 6 5 4 3 | 2 1




Hydraulic Electrical Box

/
G FILE NAME: 7207-014

SHEET NO.: 2
DFT. SCALE: 0.75
MATERIAL:

QTY:

NOTES:

2 1
REVISIONS
SYM | ZONE DESCRIPTION DATE | APP
Initial Release 513119 | JLT
Added Item #44. Needed longer bolts because of
A modifications on copper pieces. (JLT) 6/10119| DCB

Parts List
41 |PURCHASED SHCS M5x0.8-25mm 316SST 4 McMaster-Carr
#92290A252
30 |[PURCHASED SHCS M8x1.25-20mm 316SST 2 McMaster-Carr
#92290A426
29 |PURCHASED SHCS M4x0.7-20mm 316Steel 4 McMaster-Carr
g 5 \ s #91292A121
[ | ] \J 28 |PURCHASED SHCS M6x1.0-35mm 316SST 2 McMaster-Carr
& I #92290A334
27 |PURCHASED SHCS M6x1.0 x 25mm 316SST 2 McMaster-Carr
#92290A330
26 |PURCHASED Flat Washer M12 316SST 4 McMaster-Carr
5 #90965A210
25 |PURCHASED SHCS M12x1.75 x 30mm SST 4 McMaster Carr
#91292A174
i 24 |PURCHASED Flat Washer M5 316SST 8 McMaster-Carr
> #90965A160
23 |PURCHASED SHCS M5x0.8-15mm 316SST 6 McMaster-Carr
#92290A867
22 |7207-013-25 SQUARE2CYL Connection 4 CLASSE
21 |SHEET 11 Copper Connection Plate-Middle 1 CLASSE
20 |SHEET 11 Electrical Terminal 4 CLASSE
19 |SHEET 11 Copper Connection Plate-Right 1 CLASSE
@ 18 |SHEET 11 Copper Connection Plate-Left 1 CLASSE
Q 17 |SHEET 10 Insulation Block Assy 1 CLASSE
16 |SHEET 10 Hydraulic/Electrical Mounting Plate 1 CLASSE
15 |SHEET 4 Electrical Box Cover Assembly 1 CLASSE
14 |SHEET 3 Manifold Assembly 1 CLASSE
G1 G2 G3
@ g ITEM DWG. NO. DESCRIPTION REMARKS REV.
QUANTITY
U PRINT | PLOT DATE: 6/20/2019
DISTR.| CAD FILE NAME: 7207-014.idw
THESE DRAWINGS, WHICH CR-1 M treo Cornell Laboratory for Accelerator-based
/NFORCA%VTCAOIIQ ZI;%%%@;ERTY g N DIVENSIONS ARE IN MILLIMETERS, ScienceS and Education (CLASSE)
OF CORNELL UNIVERSITY. USE OF | 3 TOLET(A:C:S ON:
THESE DRAWINGS BEYOND THE S o
INTENDED PURPOSE IN SUPPORT | o — XXX £ A : .
OF OUR RESEARCH AS DESCRIBED | & * Hydraulic Electrical Box Assy
AND FUNDED BY OUR SPONSORING ANGLES £05
AGENCIES MUST BE NEGOTIATED ALL SURFACES Y/
AND,CL\:gZII?V(I):_LVfZ II\IIY\;I\:'??ZL;'I)\/I.CE BY >3 creckepey: D.Burke DRAWN BY DRAWN FOR DATE | SCALE D 7207-014 Rz:/.
. APPROVED BY: D.Burke J.Turco D.Burke 12/10/2018 SH.NO. 2 oF 16
8 7 6 3 | 2 1




REVISIONS
SYM | ZONE DESCRIPTION DATE | APP
Initial Release 5/31/19| JLT

VR VR VR
(© ) (© ) (© )
N4 N~ 7 N\
L
@ @ @ Manifold Assembly
FILE NAME: 7207-014
: : — SHEET NO.: 3
DFT. SCALE: 1
MATERIAL: AS NOTED
QTY: 1
NOTES:
4X $9.80 THRU [ ] — ] ]
FOR 1/8" NPT HELICOIL
273" INSTALLED LENGTH
(4 ON EACH SIDE)
4X @.386 THRU
FOR 1/8" NPT HELICOIL
273" INSTALLED LENGTH
(4 ON EACH SIDE)
3X 40.78 [1.606]
14.82 [.584]
I I I I
| |
AL AL Manifold Block
‘ 59.19[2.330] FILE NAME: 7207-014
Q L] - Q L Q SHEET NO.: 3
‘ | | ‘ | | ‘ DFT. SCALE: 1
o o 22,50 [.886] '\Q/'%A_‘J_ET'A'—: PEEK
| | | | l ;
| | | | NOTES:
2X $6.60 THRU [2X @.260 THRU Parts List
L 1@11.3¥ 39.1 |L_1@.44 ¥ 1.54 33 |PURCHASED Swagelok Male Connector, .125 NPT, | 8 Swagelok
250 Tube 316SST #SS-400-1-2
i i i i I I I I i i 32 |PURCHASED Standard Helical Insert 1/8" NPT x 8 McMaster-Carr
I I — — I 273" Long, SST #91733A401
I ‘ I I I i e e INNN 31 |SHEET 3 Manifold Block 1 CLASSE
] @ - H— - 31.751.250) o
] Gl | G2 | G3
I | | | | | | -—t - @ g ITEM DWG. NO. DESCRIPTION REMARKS REV.
15.88 [.625
| | | | | | | | +[ ] | | QUANTITY
| | | | | | | | | | U PRINT | PLOT DATE: 6/20/2019
DISTR.| CAD FILE NAME: 7207-014.idw
62.0013.228] = 3500 1.576]~ TIZ‘ES/\?T%/C%%E%IE%A?H CR-1 M treo Cornell Laboratory for Accelerator-based
152.00 [5.984] INFORMATION, ARE THE PROPERTY |5 = DIVENSIONS AR IN MILLIVETERS; ScienceS and Education (CLASSE)
OF CORNELL UNIVERSITY. USEOF | Q TOLERANCES ON:
THESE DRAWINGS BEYOND THE Iy b
INTENDED PURPOSE IN SUPPORT | o — O 41 _ _
OF OUR RESEARCH AS DESCRIBED | & * Manifold Assy and Details
AND FUNDED BY OUR SPONSORING ANGLES 05
AGENCIES MUST BE NEGOTIATED ALL SURFACES )/
AND APPROVED IN ADVANCE BY . cvEckepsv: D.Burke DRAWN BY DRAWN FOR DATE | SCALE 7207-014 REV.
CORNELL UNIVERSITY. m
: APPROVED BY: D.Burke J.Turco D.Burke 12/10/2018 SH.NO. 3 oF 16
8 7 4 3 | 2 1




JLTL L

304.70 [11.996]

134.25

[5.285]

81.35 [3.203]

REVISIONS
SYM | ZONE DESCRIPTION DATE | APP
Initial Release 5/31/19 | JLT
15 Electrical Box Cover Assembly
FILE NAME: 7207-014
SHEET NO.: 4
DFT. SCALE: 1
MATERIAL: AS NOTED
QTY: 1
NOTES:
Parts List
37 |PURCHASED SHCS M2.5x0.45 x 8mm 316SST 19 McMaster-Carr
#92290A058
36 |SHEET 12 Electrical Box Cover - Front 1 CLASSE
35 |SHEET 12 Electrical Box Cover - Side 2 CLASSE
34 |SHEET 12 Electrical Box Cover - Top 1 CLASSE
G1 G2 G3
g ITEM DWG. NO. DESCRIPTION REMARKS REV.
QUANTITY

PRINT
DISTR.

PLOT DATE: 6/20/2019

CAD FILE NAME: 7207-014.idw

THESE DRAWINGS, WHICH
CONTAIN PROPRIETARY
INFORMATION, ARE THE PROPERTY
OF CORNELL UNIVERSITY. USE OF
THESE DRAWINGS BEYOND THE
INTENDED PURPOSE IN SUPPORT
OF OUR RESEARCH AS DESCRIBED
AND FUNDED BY OUR SPONSORING
AGENCIES MUST BE NEGOTIATED
AND APPROVED IN ADVANCE BY
CORNELL UNIVERSITY.

 ‘ON'HS

¥10-L0C.

9} 40

CR-1

UNLESS OTHERWISE
SPECIFIED:

DIMENSIONS ARE IN MILLIMETERS;
TOLERANCES ON:
Xt.5
XX .2
XXX £.1

ANGLES 05
ALL SURFACES %/

Cornell Laboratory for Accelerator-based
ScienceS and Education (CLASSE)

Electrical Box Cover Assy and Details

cHECkeD BY: D.Burke

APPROVED BY: D.Burke

DRAWN BY

J.Turco

DRAWN FOR DATE SCALE D 7207-014

D.Burke 12/10/2018 SH.NO. 4 oF 16

REV.

@ A3y

1



REVISIONS
SYM | ZONE DESCRIPTION DATE | APP
Initial Release 5/31/19| JLT

4X ©9.00 THRU [4X @.354 THRU
L 1143V 8.3 |L_1@.56V .32

ax $6.350 7 9-908 ¥ 12.5 [4X 3.2500 § 3003 ¥ .49]

) 3 —
< AN © —

[oe) 0 o NS

o, o, o R S

S 2 2 = 2 o205 [.002]®|AB/C
S o © S |8 @.02 [001]@ A

Tel N~ (o] o :

N ~ » N o

2X $6.00 THRU [2X @.236 THRU]
6X R4.76 [.188]

—+———1270.00 [10.630]|

0.00 [.000]

40.00 [1.575] 2X M6x1 - 6H ¥ 12.0 [2X M6x1 - 6H ¥ .47]

12.00 [.472] /j

22.40 [.882]

89.583 [3.5269]

@ Septum 2 - Top
FILE NAME: 7207-014
SHEET NO.: 5

DFT. SCALE: 0.5
MATERIAL: Magnet Iron

QTY: 1
NOTES:

10.60 [.417]

280.60 [11.047]——

13.15 [.518]
W (.08 [.003]/A

\ [T ‘ I \ ‘ ‘ : .
Lﬁ\l\%% \ \ \ \ ‘ ‘ ‘ ‘ L1 *r \35.55 [1 .400]\
aY O T s
\ZX 3.0 X 45° Chamfer
[2X .12 X 45° Chamfer]
2X 44.8"\_

HR1247.97 [R49.133]|

R1232.25 [R48.514]]

[R1180.68 [R46.484]

&
S %

(9\]
3 0
~— [ce)

R1163.44 [R45.805] B R1229.45 [R48.404]

IR1184.33 [R46.627]

.2 [.008]A
1129.45 [5.096]] 2 SURFACES

—199.17 [3.904] 113.73 [4.478] 1.54 [.061]

) ( (102.41 [4.032] [/ CHAMFER
™].08 [.003]AB f
. o (.08 [.003]AB (.08 [.003]/A ox
. : - 2X $8.000 ¥ 12.0 [2X @.3150 ¥ .47] /7/.08 [.003]
S.F. FOR 8MM DOWEL ‘65.81 [2_591”

& @.08 [.003] AIC 52.35 [2.061] o
@.05 [002] 44.92 [1.769]] CHAMFER
@ — O — Or — =D 0.00 [000]

l—

~
T~

/ 20.00 [.787 0.00 [.000
-~ 1135.00 [5.315]—— =~ Gl | G2 | G3
—~ @ g ITEM DWG. NO. DESCRIPTION REMARKS REV.
B QUANTITY
S N © : 6/20/2019
| | 11.35 [447] g S 8 | CADFLEN
270.000 [10.6299] 11.35 [447] S5 3 O D8R cap FiLe Nae: 7207014 idw
o o (9\] UNLESS OTHERWISE
292.70 [11.524] 22w THESE DRAWINGS, WHICH CR-1 SPEGIFIED Cornell Laboratory for Accelerator-based
| ‘ S CONTAIN PROPRIETARY ¢ : :
| |.15[.006]B INFORMATION, ARE THE PROPERTY | £ R MENSIONS ARE I MILLIVETERS, ScienceS and Education (CLASSE)
SECTION B-B OF CORNELL UNIVERSITY. USEOF | o Q TOLERANCES ON:
THESE DRAWINGS BEYOND THE S b
SCALE 1/ 2 INTENDED PURPOSE INSUPPORT | o — ot 1 ,
OF OUR RESEARCH AS DESCRIBED | & * Septum 2 - Top Details
AND FUNDED BY OUR SPONSORING MiGLES 205
AGENCIES MUST BE NEGOTIATED ALL suRFaces {)/
AND APPROVED IN ADVANCE BY - crEcKkeDaY. D.Burke DRAWN BY DRAWNFOR | DATE | SCALE 7207-014 REV.
CORNELL UNIVERSITY. m D
: APPROVED BY: D.Burke J.Turco D.Burke 12/10/2018 SH.NO. & oF 16
9 8 7 6 5 4 3 | 2 1




9 8 7 6 3) 4 3 1
REVISIONS
SYM | ZONE DESCRIPTION DATE | APP
Initial Release 513119 | JLT
) —
(o] AN
0 I~ —
, = S
o —_— o
3 4X M8x1.25 - 6H ¥ 16.0 S —
0 [4X M8x1.25 - 6H ¥ .63] o S
N < o
6X R4.76 [.188]
0.00 [.000]
12.79 [.503]
‘ \ 2X M6x1 - 6H ¥ 12.0 [2X M6x1 - 6H ¥ .47]
40.00 [1.575] . '
72.79 [2.866] Jj \rjrzz.oo [.866]
12.00 [.472]
@ Septum 2 - Bottom
FILE NAME: 7207-014
SHEET NO.: 6
DFT. SCALE: 0.5
MATERIAL: Magnet Iron
QTY: 1
NOTES:
13.55 [.534]
F (.08 [.003]/A
T [36.55 [1.400]
\2x 3.0 X 45° Chamfer [2X .12 X 45° Chamfer]
2X 44.8° | §
(o}
0
S
)
[7.21.008] |2
=
[o0]
R1247.97 [R49.133]]
[R1184.33 [R46.627] ]2 [.008]/A
R1232.25 [R48.514] 2 SURFACES
[R1163.44 [R45.805] R1229.45 [R48.404]
[R1180.68 [R46.484]
129.45 [5.096]|
\
—199.17 [3.904] 113.73 [4.478] J 1.54 [.061]
102.41 [4.032]]
/.08 [.003]ABIC *
.08 [.003]AB (.08 [.003]AB £71.08 [.003] 2X[45°] |
65.81 [2.591]] '
2X 38.00 ¥ 12.0 [2X B.315 ¥ .47] \ ey
S.F. FOR 8MM DOWEL 52.35 [2.061]) 1.25 [.049]
g 44.92 [1.769],
&/ B:081.003] AC
®.05 [.002] ]
20.00 [.787 0.00 [.000
L o8 Lova 2200 L767] 0.00 [000]
- B
C G1 G2 G3
@ g ITEM DWG. NO. DESCRIPTION REMARKS REV.
e QUANTITY
S & 0 5 S .
2 3 2 2 2 \ g5 7§ 0 oo e mat. 7207 014
S ®, 10, o py 3X M8x1.25 - 6H ¥ 23.0 [3X M8x1.25 - 6H ¥ .91] SIS ' : “Ul4.dw
— N~ o ™ S ] | —
S o = o =i 8 8 = T’Zg%@%%gg%%ﬁ*’ CR-1 orrio Cornell Laboratory for Accelerator-based
N ~ T INFORMATION, ARE THE PROPERTY |2 1O DIMENSIONS ARE IN MILLIMETERS; ScienceS and Education (CLASSE)
OF CORNELL UNIVERSITY. USEOF | & Q TOLERANCES ON:
| | THESE DRAWINGS BEYOND THE Iy b
- 292.70 [11.524] ) INTENDED PURPOSE INSUPPORT | o = . _
L .151.006]8 SECTION C-C OF OUR RESEARCH AS DESCRIBED | . o Septum 2 Bottom Details
SCALE1/2 AND FUNDED BY OUR SPONSORING ANGLES +05
AGENCIES MUST BE NEGOTIATED ALL SURFACES Y/
AND égZTVgLVLEZ I/V/XZ\E%%CE BY . cHEckeD BY. D.Burke DRAWN BY DRAWN FOR DATE | SCALE D 7207-014 REV.
’ = APPROVED BY: D.Burke J.Turco D.Burke 12/10/2018 SH.NO. 6 oF 16
9 8 7 6 5 4 3 | 1




REVISIONS
SYM | ZONE DESCRIPTION DATE | APP
Initial Release 513119 | JLT
2X #6.00 THRU [2X @.236 THRU]
4X @8.000 ¥ 10.0 [4X B.3150 ¥ .39]
S.F. FOR 8MM DOWEL
(BOTH SIDES)
_| |@.01 [.0004]/A
4X M8x1.25 - 6H ¥ 16.0 [4X M8x1.25 - 6H V¥ .63]
3X @9.00 THRU [3X @.354 THRU
L 1$14.3V 88 |L_13.567V .34 R1163.44 [R45.805]|
3533037 Septum 2 - Middle
FILE NAME: 7207-014
144.92 [1.769]] SHEET NO.: 7
20. 787 _
0.00 [.787] DFT. SCALE: 1
MATERIAL:
QTY:
1 108 [.003]A NOTES:
0.00 [.000]
S S S = w | w ¥ B[S
(9N © [c®) [c0) N~ o L) < ™ © o
(e} N AN N AN N~ N N AN < o
= 2 S 0, ~ o) = N = X=
= |= = N © 7o) N © o) o |8
o 1 S Q @ S © X L S
™~ ey ™ ™ < © o0 o) - @
» 4 (o] AN ~ ~ ~ ~
AN — AN — — - - -
N N
N
(301.04 [11.852])
2X M8x1.25 - 6H ¥ 16.0 [2X M8x1.25 - 6H ¥ .63]
(™.015 [.0006] A
\ \ I I \ ‘ | I \ \ I I I I \ \ [l M
LJ . | | | I Il LJ 1
T T || T || 1T 26.90 [1.136] =
L4 T 1 H o - ct el P £
L : A L _ _ _ 1 _ - - D
B Cl i |~ i T 1 F—— 41
//.015 [.0006]
Al
Gl | G2 | G3
175.00 [6.890] 58.85 [2.317] ——6.45 [.254] @ g ITEM DWG. NO. DESCRIPTION COANTITY REMARKS REV.
U PRINT | PLOT DATE: 6/20/2019
DISTR.| CAD FILE NAME: 7207-014.idw
THESE DRAWINGS, WHICH CR-1 M or Cornell Laboratory for Accelerator-based
CONTAIN PROPRIETARY @ - -
INFORMATION, ARE THE PROPERTY | 2 R DIVENSIONS ARE IN MILLIMETERS, ScienceS and Education (CLASSE)
OF CORNELL UNIVERSITY. USEOF |~ S TOLERANCES ON:
THESE DRAWINGS BEYOND THE S b
INTENDED PURPOSE IN SUPPORT | o — XX £ 1 : .
OF OUR RESEARCH AS DESCRIBED | & * o Septum Middle Block Details
AND FUNDED BY OUR SPONSORING ANGLES 05
AGENCIES MUST BE NEGOTIATED AL SURFACES )/
AND APPROVED IN ADVANCE BY . ovEckep Y. D Burke DRAWN BY DRAWN FOR DATE | SCALE D 7207-014 REV.
m
CORNELL UNIVERSITY. < approvED BY: D.Burke J.Turco D.Burke 12/10/2018 SH.NO. 7 oF 16
8 7 6 5 4 3 | 2 1




(380.69 [14.988])

(54.65 [2.151])

o

(96.20 [3.787])

3 2 1
REVISIONS
SYM | ZONE DESCRIPTION DATE | APP
Initial Release 5/31/19| JLT

@ Septum 2 - Coils
FILE NAME: 7207-014

SHEET NO.: 8

DFT. SCALE: 0.5

MATERIAL:

QTY:

NOTES:

—=le—+—0.32[.013]
.0125" G10
6.60 [.260] 032 (013
Coil +.01" Keystoning je 6125[,', G1]0
6.60 [.260]
Coil +.01" Keystoning
* 14.16 [.557]
21.08 [.830]
/ \ SECTION D-D
(69.60 [2.740]) SCALE4 : 1
Gt | G2 | G3
@ g ITEM DWG. NO. DESCRIPTION QOANTITY REMARKS REV.
U PRINT | PLOT DATE: 6/20/2019
DISTR.| CAD FILE NAME: 7207-014.idw
UNLESS OTHERWISE
Tlggsirg%%gg%%é? CR-1 SPECIFIED: Cornell Laboratory for Accelerator-based
INFORMATION, ARE THE PROPERTY % N DIVENSIONS ARE IN MILLIMETERS, ScienceS and Education (CLASSE)
OF CORNELL UNIVERSITY. USEOF | e S TOLERANCES ON:
THESE DRAWINGS BEYOND THE Iy b
INTENDED PURPOSE IN SUPPORT | o — XXX £.1 . .
OF OUR RESEARCH AS DESCRIBED | & * Coil Details
AND FUNDED BY OUR SPONSORING ANGLES 05
AGENCIES MUST BE NEGOTIATED ALL SURFACES )/
AND APPROVED IN ADVANCE BY . cHEckeD By: D.Burke DRAWN BY DRAWN FOR DATE | SCALE REV.
CORNELL UNIVERSITY. m D 7207-014
: APPROVED BY: D.Burke J.Turco D.Burke 12/10/2018 SH.NO. 8 oF 16
7 3 | 2 1




4X @.354 THRU

60.00 [2.362]

45.88 [1.806]

R
N

120.00

60.00 [2.362]

A

27.21 [1.071]

|

r T B a
| | | |
‘ fAj ‘ ‘ fAj ‘
T T
ERR RN
I | I |

292.00 [11.496]

180.00 [7.087] 56.00 [2.205] — =

4X $9.00 THRU
4X M6x1 - 6H ¥ 14.0 [4X M6x1 - 6H ¥ .55] /I_I @143 ¥ 31.0 |L1 @56 ¥ 1.22

Jan - - - - B B AR
U N

[4.724]

f

R1.00 [R.039]
TYP.

60.0 [2.36]

'
L2.0 [.08]

~————30.00[1.181]

3X 5.00 [.197]

~——3.00[.118]

'

:

\4X 3.2 X 45° Chamfer [4X .13 X 45° Chamfer]

Band Mounting Plate

.08 [.003]/A

REVISIONS

SYM | ZONE

DESCRIPTION

DATE | APP

Initial Release

5/31/19| JLT

£7/.020 [.0008]

- [57.15[2.250]—+

:::\j>

S

iiiii -]
|
L

iiiii _

- 1

I

iiiii _
|
L

iiiii _

A

Septum 2 Spacer Block

FILE NAME: 7207-014
SHEET NO.: 9

DFT. SCALE: 1

MATERIAL: 6061 Aluminum
QTY: 1

NOTES:

- 3X 22.00 [.866] 27.0[1.06] 6
19.50 [.768] FILE NAME: 7207-014 G1 G2 | G3
SE-EE;CI\L?E 92 g ITEM DWG. NO. DESCRIPTION SUANTITY REMARKS REV.
' L : : PLOT DATE: 6/20/2019
) : PRINT :
g?J_EE'A'—- 316 Stainless Steel O 58TR.| caoFie nane: 7207-014 icw
J NOTES CR'1 UNLESS OTHERWISE
2.50 [.098] ——2.50 [.098] : THESE DRAWINGS, WHICH SPECIFIED: Cornell Laboratory for Accelerator-based
42.50[1.673] CONTAIN PROPRIETARY 2 Sci g d Ed t CLASSE
INFORMATION, ARE THE PROPERTY |2 1O DIMENSIONS ARE IN MILLIMETERS; ciences an ucation ( )
) (a»] TOLERANCES ON:
g0 THRY 9250 THRL orcoma sy seor - S
o XX £.2
INTENDED PURPOSE IN SUPPORT | o = My _
OF OUR RESEARCH AS DESCRIBED | & * : Spacer Block and Band Mntg Plate Details
AND FUNDED BY OUR SPONSORING ANGLES +0.5
AGENCIES MUST BE NEGOTIATED ALL SURFACES 1%/
AND APPROVED IN ADVANCE BY - cockeosy. D.Burke DRAWN BY DRAWN FOR DATE | SCALE 7907-014 REV.
CORNELL UNIVERSITY. 0 D
= APPROVED BY: D.Burke J.Turco D.Burke 12/10/2018 SH.NO. 9 oF 16
9 8 7 6 4 3 | 2 1



9 8 | 7 6 5 4 2 1
REVISIONS
292.00 [11.496] SYM | ZONE DESCRIPTION DATE | APP
Initial Release 5/31119| JLT
30.00 [1.181] 244 .87 [9.640] A Added 4 more holes for Helical Inserts. (JLT) 6/10/19 | DCB
222.01 [8.741]
146.00 [5.748]
40.78 [1.605] 110.86 [4.365]
-~ 69.99[2.755]— =
10X @5.20 THRU
30.00 [1.181] 17.13 [.675] [10X @.205 THRU]
FOR M5 X 0.8 HELICAL INSERT, 15MM LONG
P— - —-—p— - — - — G— — — & — b — —r—
50.80 [2.000]
STOCK
D 38.18 [1.503
Ot
21.40 [.843]
* — P — | | 14.70 [.579] i J
1
——8.40 [.331]
2X $6.60 THRU [2X ®.260 THRU -~ 88.00[3.465] = 102.00 [4.016] ——— = .
L I1@11.37 6.3 [|_| @44V 25 4X $12.50 THRU Insulation Block Assy
[4X @.492 THRU] Insulation Block FILE NAME: 7207-014
FOR M12 X 1.75 HELICAL INSERT, 18MM LONG 38 SHEET NO.: 10
FILE NAME: 7207-014 DFT. SCALE: 1
SF'EESTC"/L(EE_ 110 MATERIAL: AS NOTED
. : QTY: 1
T T T T ] ] L T L ] T T T T FTTT T TT1 ] MATERIAL: PEEK NOTES:
IRl ok ] | L T T | 4008 reh sTock I ] QTy: 1
] ] | ||| ] AR | ] ] (RN NOTES:
L1 L1 L ‘i‘ L \Hi\ L L1 L1 Ll 1] L
Parts List
PURCHASED Standard Helical Insert M5x0.8 15mm, 10 McMaster-Carr
SST #91732A186
PURCHASED Standard Helical Insert M12x1.75 4 McMaster-Carr
18mm, SST #91732A266
SHEET 10 Insulation Block 1 CLASSE
2X M4x0.7 - 6H ¥ 14.0 [2X M4x0.7 - 6H ¥ .55]
\ \ 171 R [ |
| |
e fan F‘*:‘j - | H - - - 1l | r‘:*‘ﬂ ﬁ{ T ——— '
- Y an T Y L
| | T 0Ll | |
T*6.35 [.250]
210.00 [8.268] ~—41.00 [1.614] —
292.00 [11.496]
2X @9.00 THRU [2X ©.354 THRU
175.00 [6.890] 58.50[2.303] ——— L 1143V 83 |L_1@.56V .32
-~ 8800[3465 = 102.00[4.016] ' 15.88 [.625]
3181129 @ Hydraulic/Electrical Mounting Plate
\ \ \
I I I FILE NAME: 7207-014
il ) n SHEET NO.: 10
L] L} L] DFT. SCALE: 1
| ¥ ¥ 36.63 [1.442] MATERIAL: Aluminum 6061
QTY: 1
NOTES:
***************** SNy =
L I
100.00 [3.937] -
@ @ e 2X M4x0.7 - 6H ¥ 14.0 [2X M4x0.7 - 6H ¥ .55]
o o o o o o T
L ] 58.00 [2.283] — 4/ DWG. NO. DESCRIPTION G2 | G3 REMARKS REV.
= i S QUANTITY
42.00 [1.654] PLOT DATE: 6/20/2019
@ - - - Van FT 30.00 [1.181] CAD FILE NAME: 7207-014.idw
AN RN T . .
ww/\ l Tlgg%@%%gg%/%}g? M or Cornell Laboratory for Accelerator-based
INFORMATION, ARE THE PROPERTY % N DIMENSIONS ARE IN MILLIMETERS; ScienceS and Education (CLASSE)
OF CORNELL UNIVERSITY. USE OF 3 3 TOLERANCES ON:
9.53[.379] THESE DRAWINGS BEYOND THE | © & e
~——82.00 [3.228] ——— = 105.00 [4.134] ——15.48 [.609] INTENDED PURPOSE IN SUPPORT o = YXX 4 1 ) _ _
OF OUR RESEARCH AS DESCRIBED | & * Hydraulic and Electrical Details
AND FUNDED BY OUR SPONSORING ANGLES +0.5
4X M6x1 - 6H v 12.0 14X M6x1 - 6H v A7 AGENCIES MUST BE NEGOTIATED ALL SURFACES W
CORNELL UNIVERSITY. > 2 D A
: AppROVED BY: D.Burke J.Turco D.Burke 12/10/2018 sH.N0. 10 oF 16
9 8 7 | 6 5 4 3 | 2 1




REVISIONS
SYM | ZONE DESCRIPTION DATE | APP
| | | Initial Release 5/31/19 | JLT
FTLT FJTT A g)g%ng;e.d(\l\]/ILST;apped holes to 5.5 thru holes on Items 18, 6/10119 | DCB
TR Ly BN
T T T T T
| | [l [l
L | 1l 1l
90.00 [3.543]
90.00 [3.543]
@5.50 THRU [ @.217 THRU]
2X $5.50 THRU [2X @.217 THRU 22.15[.872] 12.70 [.500] 299 15 [.872
 1508¥68 |LigdasT 27| 12.70 [500] Lo72]
| @5.50 THRU [ @.217 THRU]
- — [ _ 18" Copper Connection Plate-Lett Copper Connection Plate-Right ek N N
I T FILE NAME: 7207-014 19 == VN
\J U — 0 SHEET NO '. 11 FILE NAME: 7207-014 o 46.90 [1.846] I
. SHEET NO.: 11 ™~
46.90 [1.846] L DFT. SCALE: 1 DFT. SCALE: 1 o 37.38 [1.471] I 37.28 [1.468]
37.38[1.471] MATERIAL: Copper 110 (UNS C11000) MATERIAL: Copper 110 (UNS C11000) s - X
— = 37.38 [1.471] — — QTY: 1 _ 26.90 [1.059] !
! 26.90 [1.059] QTY: 1 ] 13.90 [.547]
13.90+[.547] l l R NOTES: NOTES: i %
R5.00 [R.197] 20.00 [.787]
20.00 [.787] 2X @$5.50 THRU [2X @#.217 THRU
2X @#12.50 THRU [2X @.492 THRU] L 1#9.8V6.8 |[L1@.387V .27 ]
2X #12.50 THRU [2X @.492 THRU]
\
I I | | |
RN 1
N | . 12.70 [.500]
) . [ i
Ll | | | |
2X @5.50 THRU [2X @.217 THRU]
40.78 [1.605] 9.86 [.388]

R0.70 [R.028] - - - Q
- 7 i | @ Copper Connection Plate-Middle
| |
o [ 4.76 [188] FILE NAME: 7207-014
B . * / SHEET NO.: 11
- 3.00[.118] ; \ Q 46.90 [1.846] DFT. SCALE: 2
- MATERIAL: Copper 110 (UNS C11000)
6.50 *02 [.256 +008 -~ 2.00[.079] T \ 37.38 [1.471] QTY: 1
13.00 [.512] 2X 26.90 [1.059] NOTES:
Electrical Terminal i @
-~ 2800[1.102] ] 20 i
FILE NAME: 7207-014 7.60 5-299]
- ko
MATERIAL: Copper 110 (UNS C11000
‘ . PP ( ) 2X R5.00 [R-197] ~—17.00 [.669] ~ ~ 3400 [1.339]
QTY: 4
| NOTES:
| 45.00 [1.772]
X @ g ITEM DWG. NO. DESCRIPTION ¢ QUAC:\lleTY G REMARKS REV.
75.00 [2.953
- T [2:95] 5 | e | proroare 6/20/2019
19.05 [.750] B DISTR.| CAD FILE NAME: 7207-014.idw
053 1 375 | THESE DRAWINGS, WHICH cR1 L M Cornell Laboratory for Accelerator-based
53 | 2X 5.50 THRU [2X $.217 THRU CONTAIN PROPRIETARY 2 ScienceS and Education (CLASSE)
¢ | L] ¢98 768 | ¢.38 v 27 INFORMATION, ARE THE PROPERTY 5 B DIMENSIONS ARE IN MILLIMETERS; cienceo a ucato
OF CORNELL UNIVERSITY. USEOF | = 3 TOLERANCES ON:
@5.50 V 4.8[@.217 ¥ .19] THESE DRAWINGS BEYOND THE Iy o2
INTENDED PURPOSE IN SUPPORT | o — XX o1 ,
OF OUR RESEARCH AS DESCRIBED | & * Copper Details
AND FUNDED BY OUR SPONSORING ANGLES +0.5
AGENCIES MUST BE NEGOTIATED ALL SURFACES W
AND APPROVED IN ADVANCE BY > crecxeper: D.Burke DRAWN BY DRAWN FOR DATE | SCALE 7207-014 REV.
CORNELL UNIVERSITY. >Z peroveoer: D.Burke JTurco DBuke | 121102018 D sio 1 orts | A
9 8 7 6 5 4 3 | 2 1




REVISIONS
SYM | ZONE DESCRIPTION DATE | APP
Initial Release 5/31/19| JLT

e rA e e rA rh

- 6.4[.25]
304.70 [11.996]
4X 54.25 [2.136] 43.85 [1.726]
T — —— — — o — — o — —B @ Electrical Box Cover - Top
@ T T T T T o @ FILE NAME: 7207-014
SHEET NO.: 12
. DFT. SCALE: 0.5
® — — — — — — @ @ Electrical Box Cover - Front MATERIAL: Polycarbonite
~3X35.00 [1.378 .

I 10425 5,286 FILE NAME: 7207-014 DA,

i B B - - - - & SHEET NO.: 12 '
DFT. SCALE: 0.5
| MATERIAL: Polycarbonate
7 o o o o o o 7N QTY 1 |
® 7 NOTES: 4X 54.25 [2.136] 43.85 [1.726]
- 6.35 [.250]
12.90 [.508] . r
298.35 [11.746] ~3.18[.125] - L e / L i
5X M2.5x0.45 - 6H ¥ 5.0
[5X M2.5x0.45 - 6H ¥ .20] 3.18 [.129]

13X @2.90 THRU [13X @.114 THRU
L 1@54¥26 [LI1@.21F .10

304.70 [11.996]

298.35 [11.746]

-~ 208538210 — =

167.74 [6.604]

~—126.96 [4.998] ——

4X M2.5x0.45 - 6H ¥ 5.0

~—386.18 [3.393] —
[4X M2.5x0.45 - 6H ¥ .20]

= = 4X10.00 [.394]
- y + = l«——3.18[.125]
—H— — & - © - k)i:: TT T TT TT TT
| L y ! Y y y
3.18 [.125] | | ~ 2X 25.00 [.984]
3X 35.00 [1.378] 10.00 [.394] 56.75 [2.234] # & — — — + - — =
l 31.75[1.250] |, N B B B - o |
' Il il — — — il T
2X4.80(189) | =~ L1000 [.394]
R2.00 [R.079] TYP. L 6.35[250]
6.35[.250] —= =~ . .
127.90 [5.035] [-250]
318 [125] — = =1 152.94 [6.021] 75.75 [2.982]
\ \ \ \
T T Il T [T 210.00 [8.268] 47.35 [1.864]
il il il il il
] ) @ Electrical Box Cover - Side
FILE NAME: 7207-014
SHEET NO.: 12
e 100012959 ¢ DFT. SCALE: 1
MATERIAL: Polycarbonite
2X 25.00 [.984] | QTY: 2
NOTES:
e | A
A ! > Gl | G2 | G3
\ g ITEM DWG. NO. DESCRIPTION REMARKS REV.
L 3X M2.5x0.45 - 6H ¥ 5.0 QUANTITY
3X M2.5x0.45 - 6H V¥ .20] PLOT DATE: 6/20/2019
L 3572 [ PRINT
4.80 [.189] 6.35[.250] ——10.00 [.394] U DISTR.| CAD FILE NAME: 7207-014.idw
-~ 70.00 [2.756] —
THESE DRAWINGS, WHICH CR-1 M or Cornell Laboratory for Accelerator-based
CONTAIN PROPRIETARY @ : -
INFORMATION, ARE THE PROPERTY |2 1O DIMENSIONS ARE IN MILLIMETERS; ScienceS and Education (CLASSE)
OF CORNELL UNIVERSITY. USEOF | 5 9 TOLERANCES ON:
THESE DRAWINGS BEYOND THE S o
INTENDED PURPOSE INSUPPORT | o — M ,
OF OUR RESEARCH AS DESCRIBED | & * Cover Details
AND FUNDED BY OUR SPONSORING ANGLES 05
AGENCIES MUST BE NEGOTIATED ALL SURFACES Y/
AND APPROVED IN ADVANCE BY > ceckep ay: D.Burke DRAWN BY DRAWN FOR DATE | SCALE 7207-014 REV.
CORNELL UNIVERSITY. m D
: APPROVED BY: D.Burke J.Turco D.Burke 12/10/2018 SH.NO. 12 oF 16
8 7 6 5 4 3 | 2 1




REVISIONS
SYM | ZONE DESCRIPTION DATE | APP
202.70 [7.980] Initial Release 5/31/19| JLT

101.35 [3.990]

(64.45 [2.537])

I 0.00 [.000]

4X @6.000 ¥ 12.0 [4X B.2362 ¥ .47]/
S.F. FOR 6MM DOWEL

/\ (64.45 [2.537])

(64.45 [2.537])

10.00 [.394]

10.00 [.394]

NOTE: ASSEMBLE ALL 3 PIECES WITH DOWELS AND BOLTS
BEFORE MACHINING THESE 4 DOWEL HOLES.
WILL PROVIDE HARDWARE.

PRINT | PLOT DATE: 6/20/2019
DISTR.| CAD FILE NAME: 7207-014.idw

G1 G2 G3
g ITEM DWG. NO. DESCRIPTION REMARKS REV.
QUANTITY

UNLESS OTHERWISE

Tlggﬁ@%?ﬂgﬁ%ﬁéﬁ CR-1 SPECIFIED: Cornell Laboratory for Accelerator-based
INFORMATIO/V’ ARE THE PROPERTY % Rl) DIMENSIONS ARE IN MILLIMETERS; SClenceS and Educatlon (CLASSE)
OF CORNELL UNIVERSITY. USEOF | < TOLERANGES ON
THESE DRAWINGS BEYOND THE Iy X
INTENDED PURPOSE IN SUPPORT | o — XX 1 L
OF OUR RESEARCH AS DESCRIBED | & * Machining of Dowels

AND FUNDED BY OUR SPONSORING ANGLES 0.5

AGENCIES MUST BE NEGOTIATED
AND APPROVED IN ADVANCE BY
CORNELL UNIVERSITY.

ALL SURFACES %/

cHECkeD BY: D.Burke

APPROVED BY: D.Burke

DRAWN BY

J.Turco

DRAWN FOR
D.Burke

DATE
12/10/2018

SCALE D

7207-014

SH.NO. 13 oF 16

REV.

@ ATy

1




320.91 [12.634]

@ Septum 2 Top
FILE NAME: 7207-014
SHEET NO.: 14
DFT. SCALE: 1:2
MATERIAL: Magnet Iron

QTY: 4
NOTES:

35.55 [1.400]

129.45 [5.096]

320.91 [12.634]

O

@)

O

@)

Septum 2 Bottom

35.55 [1.400]

301.04 [11.852]

129.45 [5.096]

FILE NAME: 7207-014
SHEET NO.: 14

DFT. SCALE: 1:2
MATERIAL: Magnet Iron
QTY: 4

NOTES:

O o

I
[ ]
)

@)

@ Septum 2 Middle
FILE NAME: 7207-014

SHEET NO.: 14

DFT. SCALE: 1:2
MATERIAL: Magnet Iron

QTY: 4
NOTES:

28.90 [1.138]

REVISIONS

SYM | ZONE DESCRIPTION

DATE | APP

Initial Release

4/24/19| JLT

44.92 [1.769]

el

154

ITEM DWG. NO.

G1 G2 G3
QUANTITY

DESCRIPTION REMARKS

REV.

a

PRINT
DISTR.

PLOT DATE: 6/20/2019

CAD FILE NAME: 7207-014.idw

THESE DRAWINGS, WHICH
CONTAIN PROPRIETARY
INFORMATION, ARE THE PROPERTY
OF CORNELL UNIVERSITY. USE OF
THESE DRAWINGS BEYOND THE
INTENDED PURPOSE IN SUPPORT
OF OUR RESEARCH AS DESCRIBED
AND FUNDED BY OUR SPONSORING
AGENCIES MUST BE NEGOTIATED
AND APPROVED IN ADVANCE BY
CORNELL UNIVERSITY.

¥l ON'HS

¥10-L0C.

9} 40

CR-1

UNLESS OTHERWISE
SPECIFIED:

DIMENSIONS ARE IN MILLIMETERS;
TOLERANCES ON:
X *.5
XX £.2
XXX +.1

ANGLES £0.5
ALL SURFACES %/

Cornell Laboratory for Accelerator-based
ScienceS and Education (CLASSE)

Septum 2 Material Size

cHECkeD BY: D.Burke

APPROVED BY: D.Burke

DRAWN BY DRAWN FOR DATE SCALE 7207-014
J.Turco D.Burke 12/10/2018 D sHNo. 14 oF 16

REV.

@ ATy

2 1




8 7 5 3
REVISIONS
SYM | ZONE DESCRIPTION DATE | APP
Initial Release 5/31/19 | JLT
A G?_qre)d Sheet 16 for Magnet Powder Coating Details. 6/20119| DCB
T [t
/e 2@ }3 /;; 1.17 [.046]
1.55 [.061]
X
SECTION F-F
SCALE1:1
4>
F
Gl | G2 | G3
@ g ITEM DWG. NO. DESCRIPTION COANTITY REMARKS REV.
U PRINT | PLOT DATE: 6/20/2019
DISTR.| CAD FILE NAME: 7207-014.idw
UNLESS OTHERWISE
THESE DRAWINGS, WHICH CR-1 SPEGIFED: Cornell Laboratory for Accelerator-based
CONTAIN PROPRIETARY @ . .
INFORMATION, ARE THE PROPERTY | = 1 DIVENSIONS ARE IN MILLIMETERS, ScienceS and Education (CLASSE)
OF CORNELL UNIVERSITY. USE OF a 3 TOLERANCES ON:
THESE DRAWINGS BEYOND THE Iy b
INTENDED PURPOSE IN SUPPORT o = YXX 4 1
OF OUR RESEARCH AS DESCRIBED | & * Package Space
AND FUNDED BY OUR SPONSORING ANGLES i0-51' .
AGENCIES MUST BE NEGOTIATED ALL SURFACES )/
AND APPROVED IN ADVANCE BY - cHEckep By: D.Burke DRAWN BY DRAWN FOR DATE SCALE 7907-014 REV.
CORNELL UNIVERSITY. > D ) A
. APPROVED BY: D.Burke J.Turco D.Burke 12/10/2018 SsH.NO. 15 oF 16
8 7 5 3 | 1




Mask end surfaces of chamfer

Septum 2 Top - Masking

Mask dowel hole

2X Mask threads

Mask surface

Mask surfaces

/ZX Mask threads

[

O

O

N

Mask 1" around 4 holes

\ 2X Mask dowel hole

Mask end surfaces of chamfer

Mask Surface

Mask surfaces

Mask dowel hole

Septum 2 Top

2 1
REVISIONS
SYM | ZONE DESCRIPTION DATE | APP
Initial Release 6/20/19| JLT

2X Mask threads

Septum 2 Bottom

NOTE: CAN STAY ASSEMBLED IN ONE PIECE. IF TAKEN APART
MATING SURFACES OF ALL 3 PIECES NEED TO BE MASKED.
ALONG WITH 4 C'BORE HOLES ON TOP PIECE.

Gl | 62 | @3
ITEM DWG. NO. DESCRIPTION REMARKS REV.
i @ g QUANTITY
Septum 2 Bottom - Masking
U PRINT | PLOT DATE: 6/20/2019
DISTR.| CAD FILE NAME: 7207-014.idw
UNLESS OTHERWISE
THESE DRAWINGS, WHICH CR-1 SPECIFIED: Cornell Laboratory for Accelerator-based
CONTAIN PROPRIETARY o : .
INFORMATION, ARE THE PROPERTY |2 1O DIMENSIONS ARE IN MILLIMETERS; ScienceS and Education (CLASSE)
OF CORNELL UNIVERSITY. USEOF |2 9 TOLERANCES ON:
THESE DRAWINGS BEYOND THE S b
INTENDED PURPOSE IN SUPPORT | o — XX o1 : _
OF OUR RESEARCH AS DESCRIBED | & * Masking Details
AND FUNDED BY OUR SPONSORING ANGLES £05
AGENCIES MUST BE NEGOTIATED AL SURFACES {Y/
AND APPROVED IN ADVANCE BY 2 ceckepBy. D.Burke DRAWN BY DRAWN FOR DATE | SCALE D 7207-014 REV.
CORNELL UNIVERSITY.
< AppROVED BY: D.Burke J.Turco D.Burke 12/10/2018 SH.NO. 16 oF 16
9 7 6 5 3 | 2 1



